I Avecun facteur commun

A=
B=
C=
D=
E=
F=
G=
H=

I=
J=

Factoriser les expressions suivantes :

5(x+1)+x(x+1)
x-1D2x+3)+(x—-1)(Bx-2)
2x-54x-3)-(2x-5Bx-1)
2@Bx-1)(x+3)-3(x+3)dx+1)
Tx=7—-x(x=7)+4(x-7)
2x+5)Bx-7)—(2x+5)(bx—-3)
Gx+7N(x-1D+(x-1)(3x—-4)
(3x—2)(x—5) + (x - 5)
(x+7)(5x+2) —3(5x+2)°
Bx—-4)(2x+3)-2x-3)(3x—-4)

I Avecun facteur commun

Factoriser les expressions suivantes :

5(x+1)+x(x+1)
(x-1)2x+3)+(x—-1)(5x-2)
(2x—-5)(4x—-3)-(2x-5)(3x—1)
2Bx-1D(x+3)-3(x+3)(dx+1)
Tx-7—-x(x-7)+4(x-7)
(2x+5)(3x—-7)—(2x+5)(5x—3)

= Gx+7Nx-1D+x-1)Bx—-4)

Bx—2)(x=5)+ (x—5)
(x+7)(5x+2)—3(5x+2)>
Bx-4)2x+3)— (2x—3)(3x—4)

I Avecun facteur commun
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B=
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D=
E=
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G=
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Factoriser les expressions suivantes :

5x+1)+x(x+1)
(x—-1)2x+3)+ (x—1)(5x-2)
(2x-5)4x-3)— (2x—5)(3x—1)
2(3x—1)(x+3)-3(x+3)(4x+1)
Tx=7)—-x(x-7)+4(x-7)
(2x+5)3x-7) — (2x+5)(5x—3)
Gx+7Nx-D+(x-1)Bx—-4)
Bx—2)(x—5)+ (x—5)
(X+7)(5x+2) —3(5x+2)?
(Bx-4)2x+3)—(2x—3)(3x—4)

Exercices de factorisation

II

(Un peu plus subtil)
Factoriser les expressions suivantes :
5x—-2)+42x+1)(5x-2)

7x2x+3)+2x+3
Bx+5x-1D+(x-1)

= (71x-2)B3x+4)—-Bx+4)
= 6bx-12x+3)-5x+1

7Tx-2)(x—9)+14x—-4
(x+4)2+(x—-4)(x+4)+2x+8
2x+6)(x—5) +3x+9

Exercices de factorisation

II

(Un peu plus subtil)

Factoriser les expressions suivantes :

= 5x-2)+42x+1)(5x-2)

7x2x+3)+2x+3
Bx+5)x-1D+(x-1)

= (7x-2)(3x+4)—(3x+4)
= 6Gx-1)2x+3)-5x+1

7Tx-2)(x—9)+14x—-4
(x+4)2+(x—-4)(x+4)+2x+8
2x+6)(x—5)+3x+9

Exercices de factorisation

II

(Un peu plus subtil)

Factoriser les expressions suivantes :

= 6x-2)+42x+1)(5x-2)
= 7x(2x+3)+2x+3

= Bx+5)x-D+(x-1)

= (7x-2)Bx+4)—(3x+4)
= Gx-1)2x+3)-5x+1
= (7x-2)(x-9)+14x-4

(x+4)2+(x—-4)(x+4)+2x+8
2x+6)(x—5)+3x+9
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